To multiply by powers of ten
Draw a place value grid for each question which will help you calculate the following  
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8 x 10   =
35 x 10 =
53 x 10 =
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43 x 100 =
743 x 100 =
642 x 100 =
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5 x 1000 =
8 x 1000 =
15 x 1000 =
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Reasoning and Problem Solving

Which representation does not show The perimeter of the rectangle is 26 m.
multiplying by 100?

Find the length of the missing side.
Explain your answer.
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Multiply by 10
Reasoning and Problem Solving

Always Sometimes, Never Annie has multiplied a whole number by
! ' 10

If you write a whole number in a place
value grid and multiply it by 10, all the
digits move one column to the left. What could her original calculation be?

Her answer is between 440 and 540

How many possibilties can you find?
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